> A
A & 0l & AF 2 E A A
20229 = Z0l4& LB H Aot
SN ASRED
Hu: 5EMO PR MEAT SEWM
©e: DSa4E BRl2Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aot=S Dt 16,399,622 21,081,971 A 4,682,349
= 5,666,000
< 2,000
s 10,731,622
SEXQ 222 Hox=E =HMA 10,787,552 14,520,496 A3,732,944
= 5,666,000
< 2,000
[ia 5,119,552
otS&& 2229 445,072 578,196 A 133,124
aot=E AIBE 22l 64,700 3,500 61,200
201 Let24E] 5,500 3,500 2,000
01 At 22l 3,500 3,500 0
O&ot=E 28 d2FX 2,000
OR2ZE R4 S 1,500
02 2324l 2,000 0 2,000
O=EXg KA 2,000
202 Odl 7,200 0 7,200
01 = LH 4 Hi 7,200 0 7,200
Oa=& J& ol 100,000 6 1201 & 7,200
405 RHoHF S HI 52,000 0 52,000
01 et EZFH S 52,000 0 52,000
Odot=E 2zl 22Xed 22 52,000
OI24+S KA 380,372 574,696 A 194,324
201 Let24d] 30,000 50,000 220,000
01 At 22l 30,000 50,000 220,000
Oltsd=k = =ZZA =2 30,000
203 @R =&l 2,500 2,500 0
03 Al Z=XH R =X H| 2,500 2,500 0
O&dt=E Al =& 2,500
206 M= Hl 6,000 20,000 A 14,000
01 M= 4l 6,000 20,000 214,000
OaxrAZa=EAE 254F 2 6,000
401 AIEHIZL 20 341,872 502,196 A 160,324
01 A& HI 340,000 500,000 A 160,000
OllSA4+E gear 8
1,600, 000& *5000 A 1 80,000
O=Z2H WHMEA 10,000,000 «120H &1 120,000
Obtsd=x 22 & SHIAFY| 30,000
Obts&d=t 238 30,000
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AN dot=E
M SEH0 HZZ Aot =EIMA
©e: DSa4E BRl2Y CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ontgasz 28 oM
5,000,000& 1200 &1 60,000
OGAELINAEI A 4,000,000 x5 *14 20,000
03 Al S THHI 1,872 2,196 A 324
Ot RAE=3A
260,000,000 *0.72%* 1 1,872
St=Z A4 i 10,230,480 13,824,340 A 3,593,860
= 5,666,000
e 4,564,480
HMelAE |2 16,000 13,000 3,000
201 Let2dE] 16,000 13,000 3,000
01 At 22l 10,900 8,500 2,400
O==Z Z Attl 100,000& 14 100
OFSE S A =2l 4003 *2,00001 =13 800
O2saTd HYES +2  2,500,000& 43| 10,000
02 =24l 5,100 4,500 600
OFSE AUHSAH EB= 400%2,00001 13 800
O4dt=% #3altl 2,500
OZZSHIAS ¢4 SN2
7,500 *2000 &+ 128 1,800
LGB LHelE =H HSAY 50,000 50,000 0
401 Al HIZ 201 8] 50,000 50,000 0
01 A& HI 50,000 50,000 0
OZ4H ot=3S2 XMl FHESAY 50,000
SSHEY HEFAY 35,000 35,000 0
101 @124l 5,000 5,000 0
04 DIt 22 HEE =+ 5,000 5,000 0
OSZSEA ANEE KR
5,000,000& x 14! 5,000
401 AIEHI L 2 CHYI 30,000 30,000 0
01 A& HI 30,000 30,000 0
O=&s&a HE=> 10,000,000& «37H £ 30,000
ot =& & 22 151,080 201,440 A 50,360
401 AIEHI L 20 151,080 201,440 250,360
01 A& HI 150,000 200,000 A50,000
O33ot=Z A8 &4 ¢ 2|
150,000, 000& «1& 150,000
03 Al 2 THHI 1,080 1,440 A 360
DosaTAL 24 U e
150,000, 000& *0.72% 1,080
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M Aot
M SEH0 HZZ Aot =EIMA
SRl Sl AlE A CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
St Xl & 2l (St HIH ) (YaHel 196,000 3,517,000 A 3,321,000
ae)
= 137,000
[ia 59,000
401 AIEHI L 20 196,000 3,517,000 A 3,321,000
= 137,000
e 59,000
01 A& HI 196,000 3,507,505 A 3,311,505
Ogd - 2= XM7Y ot=2=2 FHIAS 196,000
= 137,000
s 59,000
OtSot=% HESAS 1,597,732 955,700 642,032
401 AIEHIZL 20HEI 1,597,732 955,700 642,032
01 A& Hl 1,592,000 950,000 642,000
Odt=22 HEAY 1,392,000, 000& 14 1,392,000
Odt=% AIE2 HE A 200,000,000 * 14 200,000
03 Al 20 HI 5,732 5,700 32
Odt=% JHEALS 1,592,000,000& *0.36% 5,732
St=Zo &X ¥ 2el(sHENSa=ZFHHIALY)( 928,000 1,406,000 A 478,000
EXF)
= 390,000
[ia 538,000
401 AIEHI L 2 CHYI 928,000 1,406,000 A 478,000
= 390,000
[ia 538,000
01 A& HI 924,652 1,401,782 ANA4T7,130
OLEXNT s0HE Ot2ot=% ZHIALS 924,652
= 390,000
s 534,652
03 Al SR THHI 3,348 4,218 AB70
O2EXT? s0HE OISot=E FHIAY 3,348
St=Co X 2 Ze (o2 2F ) (LaF22) 4,174,410 3,585,000 589,410
= 4,164,000
[ia 10,410
401 AIEHI L 20 4,174,410 3,585,000 589,410
= 4,164,000
s 10,410
01 A& HI 4,164,000 3,576,000 588,000
O 2 LZot=22 HHAEY 4,164,000
= 4,164,000
03 A& 2 THHI 10,410 9,000 1,410
O 2+ L2ot+=22 FHHlAY 10,410
SS9 X 2 Zed(sHE0I26taS FHIALY ) ( 716,001 1,390,000 A 673,999
21ATIT)
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SN ASRED
M SEH0 HZZ Aot =EIMA
Sl ST AE WA CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 501,000
s 215,001
401 Al& Bl 28I 716,001 1,390,000 A 673,999
= 501,000
s 215,001
01 A& HI 711,490 1,384,996 A 673,506
O 2aX72 s0HE OISot=E JHIAY
716,000, 000+ (1-0.63%) 711,490
= 501,000
e 210,490
03 AIE 2 0HHI 4,511 5,004 A 493
O 2dX72 s0HE OISot=E FHIAY
716,000,000%0.63% 4,511
St=Z9 HX ¥ Z2el(-Bot=22 FUXAL 377,000 348,000 29,000
= 188,000
s 189,000
401 Al& I 28I 377,000 348,000 29,000
= 188,000
s 189,000
01 A& HI 377,000 348,000 29,000
O LZot+22 U A 377,000
= 188,000
i 189,000
SS9 Xl L Ze(sHE0I26taS AL )( 256,000 358,000 A 102,000
LEXF)
= 179,000
s 77,000
401 Al HI & 28I 256,000 358,000 A 102,000
= 179,000
s 77,000
01 A& HI 254,157 355,423 A 101,266
OLRXF sHE Ot2ot=% HUlAY
256,000, 000%(1-0.72%) 254,157
= 179,000
fia 75,157
03 Al 2 THHI 1,843 2,577 AT734
OLBRXF sHE OI2ot=% HUlAY
256,000,000%0.7198% 1,843
SS9 X ¥ e (sHEDIS6tT FHIALY)( 153,001 358,000 A 204,999
=8XF)
= 107,000
[ia 46,001
401 Al BIZ 201 8] 153,001 358,000 A 204,999
= 107,000
e 46,001
01 Al& tl 151,899 355,423 A 203,524
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SN ASRED
Hu: 5EMO PR MEAT SEWM
&l St Ald A (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
O2FNP? sO= 0IS06t2:% FHIAY
153,000,000%(1-0.72%) 151,899
= 107,000
= 44,899
03 AlE 21| 1,102 2,577 N 1,475
O2EXNFR sOH=E OISot=% HHIAY
153,000,000%0.72% 1,102
ofEE9o &X 2 22 (sSHE0ISotE=S HHIAFY)( 1,580,256 1,006, 300 573,956
Had AEEE)
401 Al HI L £ 0HHI 1,580,256 1,006, 300 573,956
01 Al& H| 1,576,000 1,000,000 576,000
OB44 2BNY YOI4E HTALY
1,576,000, 000 1,576,000
03 Al 20| 4,256 6,300 N2,044
OF44 BBHL Mot4EE HFAY
1,576,000,000%0.27% 4,256
HAEH Jl=22e 102,000 117,960 A 15,960
HLEZE JE22 102,000 117,960 A 15,960
201 LBt Y| 102,000 117,960 A 15,960
01 AP 22| d| 102,000 117,960 A 15,960
Oadsd A H 5,000,000 1201 & 60,000
OSXHH HALH 2,500,000& 1201 & 30,000
OANRA SRt 1,000,000 1204 & 12,000
M AIEE XIEBHE AL 10,000 0 10,000
&< 2,000
= 8,000
A2 XBHEAIEZ S 10,000 0 10,000
= 2,000
= 8,000
401 AlEHIZL 2 0HY| 10,000 0 10,000
= 2,000
= 8,000
01 Al& B 10,000 0 10,000
Oar=2t2 X|BtEAIEA 10,000
= 2,000
= 8,000
MEES(ast==) 5,565,990 6,515,635 A 949,645
WEHN K= 5,565,990 6,515,635 A 949,645
MNLETAIESYESAH &3 5,565,990 6,302,083 A 736,093
701 JIEISI HSEE2 5,565,990 6,302,083 A 736,093
01 JIEtSI HE &= 5,565,990 6,302,083 A 736,093
OM=TAIEELEIAH 853 5,565,990
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Kio

Hl w

240

240
240

240
240

H3r
Wikd
RIS

45,840

45,840
45,840

19,440

19,440

21,600
21,600

4,800
4,800

Off &t 24

46,080

46,080
46,080

19,440

19,440
15,552

3,888

21,600
21,600
21,600

5,040

=)
A
<+
S

<0

R0
30
O
RO
10

&0
1[3]
J
oll

1=!

2l x

<J

B3
(e}

0

15,552,000
3,888,000

1=

2l *

<J

al

0

70
D

1=

2l *

o

21,600,000

401l

=
=)

©)

01 SLHOHI

202 o4 Hl

KJ
KE
o-
ol

5,040
5,040

1« 128
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